Package

all Mount Adaptgr

Product Overview

[SY[e)) This product is used to install the Smart Dome Camera and Anti Vandal Camera on
awall or vertical structure.

[S=YN) Ce produit permet de monter la camera SmartDome et la caméra anti-vandalisme sur
un mur ou une structure verticale.

GER Dieses Produkt dient zum Montieren der SmartDome-Kamera und der Anti-
Vandalismus-Kamera an einer Wand oder einem senkrechten Untergrund.

SPA Este producto se utiliza para instalar la Cémara Domo inteligente y la Camara
antivanddlica en una pared o en una estructura vertical.

TA Questo prodotto & utilizzato per installare la videocamera Smart Dome e la
telecamera antivandalismo su una parete o su una struttura verticale.

3TOT NPOAYKT MCMONb3YETCA AR YCTaHOBKM KyNosibHOM BuaeoKameps Smart Dome
aHTMBAHZANbHOI BUZEOKAMEpbI Ha CTEHY W BEPTVKasbHYI0 NOBEPXHOCT.

s}

U

()

Ten produkt jest uzywany do montazu kamer koputkowych i kamer koputkowych
zabezpieczonych przez wandalizmem na $cianie lub konstrukcji pionowej.

o
o
=

Bu Urlin, duvara veya dikey bir yapiya Smart Dome Kamera ve Anti Vandal Kamera
kurulumu icin kullanilir.

U
Tento produkt je uréen k instalaci kupolové kamery Smart a protivandalské kamery

na sténu nebo svislou strukturu.

CORBEFALT, AR—b « F=L AASETVF NV - AT %EE
R EBELRAICRELET,

H K= @A TS ESEE 4 %% Smart Dome B %H1F Anti Vandal R4

PG = MZ2 8 E= X FARZ0| A Smart Dome Camera. Anti Vandal
Camera A% Al AR5t Adaptor@ILIch.

(¢]
N

(=
>
)

b | =
= s3]

(@)

Installation Precautions

Make sure that the installation place can endure at least 4 times of the total weight of the Wall
Mount Adaptor, Hanging Mount Adaptor, and Camera.

This product is designed to use M10 Anchor Bolts (Nuts) for the installation.

For a concrete wall, it is recommended to use M10 Anchor Bolts (Nuts) along with plain and
spring washers.

Each anchor bolt must be capable of withstanding an extraction force of 700 kg.

When installing the product outdoors, use interlocking devices made of stainless steel.

You can install the Wall Mount Adaptor directly on the wall or mount it on the Corner Mount
Adaptor (SBP-300KM) or Pole Mount Adaptor (SBP-300PM) before installation.

Assurez-vous que I'emplacement de I'installation peut supporter au moins 4 fois le poids total
de I'adaptateur de fixation murale, de I'adaptateur pour fixation suspendue et de la caméra.

Assicurarsi che il punto prescelto per I'installazione possa sopportare un peso 4 volte
superiore a quello totale di adattatore per montaggio a parete, adattatore per montaggio
SOSpeso e videocamera.

Questo prodotto & progettato per utilizzare bulloni di ancoraggio M10 (dadi) per I'installazione.
Per una parete in calcestruzzo, si raccomanda di utilizzare bulloni di ancoraggio M10 (dadi)
con rondelle piane e elastiche.

Ogni bullone di ancoraggio deve poter resistere ad una forza di estrazione di 700 kg.

Per installare il prodotto all'aperto, utilizzare dispositivi di ancoraggio in acciaio inossidabile.

E possibile installare I'adattatore per montaggio a parete direttamente a parete o montarlo
sull'adattatore per montaggio ad angolo (SBP-300KM) o sull'adattatore per montaggio su palo
(SBP-300PM) prima dell'installazione.

Y6eauTech, UTo MECTO YCTAaHOBK BbIAEPKMBAET BEC MPUMEPHO B 4 pasa Gonblunii obLiero
Beca HaBeCHOro, HaCTeHHOrO ajjanTepa 1 Kamepbl.

[InA ycTaHOBKYM 3TOrO MPOAYKTa HEOOXOANMO NCMOMb30BaTb KpernexHble 6onThl (raitki) M10.
[InA yCTaHOBKM Ha CTEHY PEKOMEHAYeTCA UCMOb30BaTh KpenexHbie 6onTel (raiki) M10
BMeCTe C MPYXUHHBIMI 11 NAOCKAMM LWaii6amu.

Heobxoa1Mo, UToBbI Kax/abiit KpenexHbI 6onT Mor BblidepaTb cunosyio otaady B 700 Kr.
Ecnu npoayKT ycTaHaBNMBaETCA BHE MOMELLEHWA, HEOOXOANMO NCMOMb30BaTb YCTPOUCTBO
6NIOKMPOBKM U3 HepxaBeloLLeit CTanu.

HacTeHHbI KPOHLITEIH MOXHO YCTaHaBNMBaTb HEMOCPEACTBEHHO Ha CTEHY, Ha Yr0BOA
(SBP-300KM) wnm cton6osoit (SBP-300PM) KPOHLUTENH.

Upewnij sie, ze miejsce instalacji moze utrzymac ciezar czterokrotnie wiekszy od tacznej wagi
Przystawki éciennej, Przystawki wiszacej i Kamery.

Produkt ten nalezy montowa¢ za pomoca kotew (nakretek) M10.

W przypadku $ciany betonowej zalecane sa kotwy (nakretki) M10 oraz podkiadki zwykte i
sprezyste.

Kazda kotwa musi mie¢ zdolno$¢ wytrzymania sity wy0|agan|a 700 kg.

W przypadku montazu produktu na zewnatrz nalezy uzywac blokad ze stali nierdzewnej.
Przystawke $cienna mozna zamontowac bezposrednio na $cianie lub na przystawce katowej
(SBP-300KM) badz przystawce do montazu na stupie (SBP-300PM).

Montaj yerinin Duvar Montaj Adaptorintn, Askill Montaj Adaptorintin ve Kamera'nin toplam
agiriginin en az 4 katina dayanikli oldugundan emin olun

Bu Urtin, M10 ankraj civatalariyla (somunlar) birlikte kullaniimak icin tasarlanmistir.

Beton duvarda, diiz ve yayl rondelaya sahip M10 ankraj civatalarinin (somunlarin) kullaniimasi
Onerilr.

Her ankraj civatasi, 700 kg glice dayanabilmelidir.

Urtinti dis mekana kurarken, paslanmaz celikten yapilmis i¢ kilit mekanizmalar kullanin.
Duvara Montaj Adaptoriini dogrudan duvara kurabilir veya kurulumdan énce Koseye Montaj
adaptort (SBP-300KM) ya da Direge Montaj Adaptorti (SBP-300PM) Uizerine takabilirsiniz.

Ujistéte se, ze misto, kam chcete zafizeni instalovat, unese nejméné ¢tyrasobek souctu
hmotnosti adaptéru pro upevnéni na sténu, zavésného montazniho adaptéru a kamery.

Tento produkt je navrZzen pro pouZiti kotevnich roubl a matic M10 pfi instalaci.

U betonovych stén se doporucuje pouzit kotevni Srouby a matice M10 spolu s plochymi a
pérovymi podiozkami.

Kazdy kotevni Sroub musi byt schopen odolat tahu 700 kg.

Pri instalaci produktu ve venkovnich prostorach pouZiite zajistovaci prvky z nerezové oceli.
Adaptér pro upevnéni na sténu Ize instalovat primo na sténu nebo jej pred instalaci namontovat
na rohovy montazni adaptér (SBP-300KM) nebo montézni adaptér pro stozéry (SBP-300PM).

Pour installer ce produit, vous avez besoin de boulons d'ancrage M10 (écrous a river).
Sile mur est en béton, nous vous conseillons d'utiliser des boulons d'ancrage M10 (écrous a
river) avec rondelles de ressort et plates.

REBIN V4 —IV ROV TETZ NG 77\/#-7’@7“%35&6737‘5@@
‘ oor! & pal , ) STEEDRAMEE TMASNS L &ML <L

Chaque boulon doit pouvoir résister a une force d'extraction de 700 kg. ZORGIF MIOT Y H—RIVE (Fv b EER LT,‘&‘%L&?

Si vous installez le produit & I'extérieur, utilisez des dispositifs de verrouillage en acier B OV — FEIDBECRB T BIBAIE M0V H—RIVE (Fu k) EEblc ETvv—3

inoxydable. .
Vous pouvez monter I'adaptateur de fixation murale directement sur le mur, sur un adaptateur gl/—},\z\zz/g ) ﬂf{%aéﬁ?éﬁﬁ%ﬁﬁﬁm}i

S pouvez e . nEd.
cai\? afhﬁtilg;gl\:t?gﬁ (SBP-300KM) ou sur un adaptateur de fixation sur pyléne (SBP-300PM) OB RN BT BIEA. 25 LR BB B AL T
BEECTUA—IV- RV TAT2EZBET SN, I—F— XTIk 7’77’9 (SBP-SOOKM)

Stellen Sie sicher, dass der Montageort das 4-fache Gesamtgewicht des Wand- bzw.
Hangeadapters und der Kamera tragen kann.

Bei der Montage dieses Produkts bendtigt man Ankerbolzen und Muttern (M10).

Bei einer Betonwand wird die Verwendung von M10 Ankerbolzen (Muttern) und von
Unterleg- bzw. Spannscheiben empfohlen.

Jeder Ankerbolzen muss einer Ausziehkraft von 700 kg standhalten kénnen.

Wenn das Produkt im Freien montiert wird, missen Verriegelungseinrichtungen aus Edelstahl
verwendet werden.

HBWNER—IV I TV T TR (SBP-300PM) D_EICT+— )RV b T2 T 2B
1IBTENTEET,

BERRREMEZVALUREE EREEHR. BERRERFZMEGINLSERMN 4 1N

AP @D M10 BIEIR4 (B8 TR,
MFRELIE, B8 M10 EERE (B5) 'ﬁﬁ?’ﬁﬁliﬂ’]élﬂnnﬁﬁl
BB ERLE L FEEBIG 700 ATIRHNE.

Befestigen Sie den Adapter fir die Wandmontage direkt an der Wand, oder bringen Sie ihn
Uber der Eckhalterung (SBP-300KM) oder der Masthalterung (SBP-300PM) an, bevor diese
installiert wird.

EEPREFRE, BEATHRAMEMRKYRE
RS EREERFERREAEE L, BAUEREZAARERERRIREGRR
(SBP-300KM) SR Ri&RL =R (SBP-300KM) L.

’QXIXUWPWaII Mount Adaptor, Hanging Mount Adaptor, Camera 2| £52 9
B 745' = QU= ol HR[SHAL.

0| MZ2 M10_J A7} BE(HE)S AIZSIER MAIZI0f UELICE

=32|EH0 AR AR M10 o U7t BE(HE)S WoIN Y AZARbMQt Sl AFESHMIL.
HR|E 22| Y7t %EE 700kg2| H74{oi| Z4C|ofof ELcH

Z200f] MX| Al HEF= AH|QRIA THES AESIML.

Wall Mount Adaptor= lof| X1 Ax|& 4= 9lom 5t Corner Mount Adaptor
(SBP-300KM), Pole Mount Adaptor (SBP-300PM) S0il 22150 Ax|& 4= ULLICt

WALL MOUNT ADAPTOR

Asegurese de que el lugar de instalacion puede soportar al menos 4 veces el peso total del
adaptador de montaje en pared, el adaptador de montaje en suspension y la camara.

Este producto se ha disefiado para utilizar tornillos de anclaje M10 (tuercas) para la instalacion.
En un muro de hormigdn, se recomienda utilizar pernos de anclaje M10 (tuercas) junto con
arandelas planas y de muelle.

Cada perno de anclaje debe tener la capacidad de soportar una fuerza de extraccion de 700 kg.
Alinstalar el producto en exteriores, utilice dispositivos de interbloqueo de acero inoxidable.
Puede instalar el Adaptador del soporte de pared directamente sobre el Adaptador del
soporte de esquina (SBP-300KM) o sobre el Adaptador de montaje en poste (SBP-300PM)
antes de realizar la instalacion.

481 0ldE



Installation

1 Pull out the external power cable, BNC cable and communications cable
(for connecting to the “camera”) through the rear of the Wall Mount
Adaptor into the Pipe.

= Then, it is recommended to keep the cables in a distance of about 100 mm from
the pipe.

2 Secure the Wall Mount Adaptor to the wall, corner or pole using the
“Anchor Bolts or Nuts (M10)".
= When installing the product on a corner of the wall, use the Corner Mount Adaptor
(SBP-300KM) and use the Pole Mount Adaptor (SBP-300PM) for a pole.

= When installing the product on a wall, mark and drill 4 holes into the Wall Mount
Adaptor and insert the Anchor Bolts or Nuts (M10) before installation.

Anchor Bolts

Wall Mount Adaptor

3 Mount the Camera set on the Pipe.

= Install the camera according to the camera's installation guide.

Camera set

Product Specifications

¢ Weight : 6259

o Material : Aluminum

e Operation temp. : -50°C~60°C
e Operation hum. : 0~100%

e Ciezar : 6259

e Materiat : Aluminium

* Temperatura robocza : -50°C~60°C
* Wilgotno$¢ robocza : 0~100%

* Poids : 6259

e Matériau : Aluminium

o Température de fonctionnement :
-50°C~60°C

¢ Humidité de fonctionnement :
0~100%

* Agrrlik : 6259

* Malzeme : Aliminyum

* Calisma sicakligi : -50°C~60°C
* Calisma nem degeri : 0~100%

* Gewicht : 6259

o Material : Aluminium

¢ Betriebstemperatur : -50°C~60°C
¢ Betriebsluftfeuchte : 0~100%

* Hmotnost : 6259

o Material : Hlinik

¢ Provozni teplota : -50°C~60°C
¢ Provozni vihkost : 0~100%

® Peso : 6259

¢ Material : Aluminio

¢ Temp. funcionamiento : -50°C~60°C
¢ Hum. funcionamiento. : 0~100%

« B8 6259

B T7IVIZUL

* HIERE : -50°C~60°C
* VERFE : 0~100%

¢ Peso : 6259

¢ Materiale : Alluminio

e Temperatura di esercizio : -50°C~60°C
¢ Umidita di esercizio : 0~100%

e =& : 6259

ot} 48

e T{ERE : -50°C~60°C
o TYEIRE : 0~100%

e Bec : 6259

* Matepuan : ANOMUHII

¢ Temnepartypa npwu pabote :
-50°C~60°C

® BnaxHocTb npu pabote : 0~100%

Product Outline

e 27 : 625¢

e T : Aluminum

e N2 2% -50C~60TC
e A2 & 1 0~100%

183
5

_QM .

207,5

o

1l

I

WiTHRE: Q/12JD5708
Z6806159701A



